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THREE YEAR B.A./B.Sc./B.Sc. DEGREJ

CHOICE BASED CREDIT §'
SECOND SEMESTER
PART - Il : MATHEMATICS
PAPER - II : Three Dimensional Analytical Solid Geometry
(Under CBCS New Regulation W.e.f. the academic year 2020-21)

Time : 3 Hours Max. Marks : 75

SECTION-A
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Answer any Five of the following questions. Each question carries equal marks(5x5=25)
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Find the equation of a plane which passing through (2, 2,1) (9, 3, 6) and is perpendicular
to the plane 2:4:-}-6_):—!—6:-: 9 (3)
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A plane meets the coordinates axes in A,B,C. If the centroid of the /A ABC is the point
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(a,b,c). Show that the equation of the plane is E E —‘E -+ :*:" =3 (3)
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" Find the image of the point (1,-2,3) inthe plane 2x — 3y + 2z +3=0. (5)
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: Fmdﬂmmuaﬂanﬂﬂhelmelhmugh(l,w) and parallel to the line x-y+2z=5, 3x+y+7=6.(5)
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g Find thfi:lﬂlui and centre of the circle of intersection of the sphere
X4y +fﬁ'3y.—4z= 1 1 and the plane x 12y 12215, (5)
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6. Show that the plane 2x-2y4z+12=0 touches the  sphere
X 4y +2 —=2x—4y+ 2z~ 3 =( and find the point of contact. &)
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7. Find the equation to the cone which passes through the three coordinate axes and the lines
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Answer All the questions. Each question carries 10 marks. (5%10=50)
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9. a) Avariable plane is at a constant distance p from the origin and meets the axes in A.B
and C show that the locus of the Centroid of the tetrahedron OABC is
+y’+z’ 2=16p" (10)
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b) Find the bisecting planes of acuts angle between the planes
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3x—2y+6242— 0, 2x = Frio42=0.
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coplaner. Find their point of intersection and the plane containing the lines.  (10)
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' _’9@1111:3 of the coaxial system of spheres of which two members ate
T3 8y 6= 0,0 + ) +2~6y—624+6=0. (10
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b) Fimi the equation to the cone with vertex at (1,1,1) whose EBM curve is

X4y =4,z=2. Sl
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b) Find the vertex of the cone 'I;s: +2y +Zz —iﬂzxt—i—lﬂgé—kﬁﬁm*
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